=Ju = N
WY — Mz W, — ﬁX ﬁ+ 1 1*&
T $=1/500 i S=1/50 X8
> A po e B X B K E sk T2 (20230 3)
£\
| B F
) 5.00 070 L 3% M
-\ 1.70 BAETRE2TEISEENSBELET
v,ﬁ' @ % %
— T TmEX. HrmX
= i
= B 5%:;"%03 c-4 BEE08 A-4,3
o EE#04 B-1,0-1
EE #72 6 200G XDIP /8 i
=% ¢ 300ADIP
= PE LS54 (2023%) 1A
== Rk |[(ARE] 3 EE [REE
I
L _ 6Q,_ 120 070 6.00 070
ALEWRATHES/ - N =
oly % 1140 ( L0 WAET L TKER R EKEEHE
= B HER | KRR
=< = % u —
) u@. . ,
= BRI A XA 1 ‘
9 % D HA®RREILS ¥DO & I Jovs%% 2207,2506
=) 5
Sl HAREME WO 1% #i% # 200GXDIP TreT ’
—~ #%% ¢ 300ADIP
AN o T EMHZE
Bt | 4o A P10
}d_r)i E / ) A BAKEHHIFE 4200 GXDIP L=247m
o | ¥4 ®
{4& @ & o e 0'7? - 500 L0 B EASE®RIF 6150 GXOIP L=31m
o ) ) @ P
¥ ® o ( C BkE#HTE ¢75 GXDIP L=2m
2 @ —
= =7 —] D BARRETE %0 1%
m
i 2 W 4300 ADIP  L=243m
TR ]
#:% 6 200G XDIP /lg% WEE #150 ADIP L=31m
o <Q
o WEE ¢200 ADIP  L=4m
= o #%% ¢ 300ADIP
WEE 75 TDIP L=2m
ele P13
ulou HARIE .0 1%
i
| ":;j; 033 6.00 0.33
o 0.6
= I
<0 F
o] = SNy UM = ]
L {0 =
N~ |t
- e o N 61506 XDIP
fof | 0
H | Mx% ¢ 1S0ADIP
kS
e a-a’
o
x 070, 6.00 0.70
n)
331
ERFARE
O (F & £ W) |
AUk BEDHRETL 6300 1% /= ;"‘ .\‘ Q 2 & Il °
#300ADIP K &E — A oe — R g -
E‘icﬁBDDADIPt:éﬁé E}faxﬁEDOADIPL»@ﬁQ ®° ® g #% ¢ 200GXDIP
A BxEHRIZE 200 GXOIP L=24/m (X%&) ] 700X500X600
wx% 6300 ADIP L=191m
wmE% 6200 ADIP L=4m
REREHFWET 6200 L=245m
T FXMINRAMEE
I% X P ER | Y | EMEE (5%) | BR | RE | BRH BEERR5 02 e Ee KATESRE | (R1RIDHHE 157518483 181088 4% {EE Xt
ASEBR=5cm BEASHEHR=5m BEASEHR=5cm .
— Qv —40= F:3 —40= —40=
- 247m| 0.9m N190.2m 3 13m RC-40=20m | 2 e 0em ® |RC-40=25m B ACHEA—C @ RC-40=20m | ol e (gen | B
WEDAH | D2m 1.0m Ny90.1m 3 3m RC-40=10am RC-40=10am 438
B wE+ ASEH =5m ol BEASEMR=Sm AIEAEIE BEASEH=Sm
BIx - 31im 3m RC-40=20am RC-40=25m BiE
0.8m | ~o#90.2m 3 ASEHR=5cm BEASEH=5m BEASBR=5cn
B Cnl - nl nl N
C1® en i RC-40=20 \sezwe=10cn ®oRCT40=eSa)  muacmm=Sm  |RCT40TE0M ) measwrmmsigen | TR




